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PART A (20*1=20 MARKS) (Write
A/B/C/D)
A, B, C, D and E are sitting on a bench. A is sitting next to B, C is sitting next to D, D
is not sitting with E who is on the left end of the bench. C is on the second position from
L1 the right. A'is to the right of Band E.A and C are sitting together. In which position A
is sitting? b
A) Between B and D C) Between E and D
B) Between B and C D) Between C and F
Identify the figure that completes the pattern.
11 NS R 7 A
- g
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A) 4 a)C) 2
B) 3 b) D)1
Siya is 18th from left end and 12th to the right of Rinku who is 38th b
3.
from the right end. If all of them are facing north, Find out total number ofpersons
in the row?
A) 44 C) 45
B) 43 D) 46

Read the below passage carefully and answer the questions:

Five cities all got more rain than usual this year. The five cities are: Last Stand, Mile
City, New Town, Olliopolis, and Polberg. The cities are located in five different areasof
the country: the mountains, the forest, the coast, the desert, and ina valley. The rainfall
amounts were: 12 inches, 27 inches, 32 inches, 44 inches, and 65 inches.

The city in the desert got the least rain; the city in the forest got the most rain.

New Town is in the mountains.

Last Stand got more rain than Olliopolis.

Mile City got more rain than Polberg, but less rain than New Town.

Olliopolis got 44 inches of rain.

The city in the mountains got 32 inches of rain; the city on the coast got 27inches ofrain.

¥ X % X %

4. | Which city got the most rain? a




A) Last Stand C) New Town
B) Mile City D) Olliopolis
5. | How much rain did Mile City get?
A) 12 inches C) 32 inches
B) 27 inches D) 44 inches
6. | Which city is in the desert ?
A) Mile City C) Olliopolis
B) New Town D)Polberg
Find out the alternative figure which contains figure (X) as its part.
AR
x) @O @ B @
Al C)3
B) 2 D)4
Find out the alternative figure which contains figure (X) as its part.
{
L7 allES
x) @O @ & @
Al C) 3
B) 2 D)4
Which of the following verbs best fits the sentence given below?
9. | Either the executive or the assistant been here.
A) have C) was
B) has D) are
Identify the figure that completes the pattern.
10.
?
x O @ @& @
Al C)3
B) 2 D)4
11. | In the sentence ""He likes both tea and coffee,"* what is the conjunction?
A. likes B. tea
C. both D. and
12 Fill in the blank with the proper verb form.
"| The content of the papers_not good.
A. was B. have been
C. were D. are
In a row of certain persons, Pradip is sitting 463 from the left end and 531from
13. right end. Find out the total number of persons in that row?
a.963 €.993
b.942 d. None
1 A, P, R, X, Sand Z are sitting in a row. S and Z are in the centre. A andP are atthe

ends. R is sitting to the left of A. Who is to the right of P ?




A A B. S
C. X D. Z
15.| Which option contains a preposition?
A. and B. under
C. both D. but
16. | Complete the below sentence with proper agreement of the verb with the subject.
My uncle and benefactor __
A. has come B. were come
C. have come D. iscome
17.| 1 need to my essay before submitting it.
A. Write B. Edit
C. Read D. Publish
18 In a row of 60 persons, Ganesh is 26th from left end. Find out his position fromthe
"| right end.
A. 35 B. 34
C. 36 D. None
19.| She___the book from the library yesterday.
A. Borrowed B. Bought
C. lent D. Gave
20, Fill in the blank with the proper verb form.
The content of the papers not good.
a. was c. have been
b. were d. are
Part B (15 * 2 = 30 Marks)
wel etter repla o The auesnen 2 \Which Letter replaces the question mark?
d
S
21.
M| D |1
F E H| 2
A) K C)G
B) I D)I
Find out the alternative figure which contains figure (X) as its part.
22.

v

x @O @ 6 @

Al C)3

B) 2 D)4

Read the below passage carefully and answer the questions:

| felt the wall of the tunnel shiver. The master alarm squealed through my earphones.
Almost simultaneously, Jack yelled down to me that there was a warning light on. Fleeting
but spectacular sights snapped into ans out of view, the snow, the shower of debris, the
moon, looming close and big, the dazzling sunshine for once unfiltered by layers of air.
The last twelve hours before re-entry were particular bone-chilling. Duringthis period, |
had to go up in to command module. Even after the fiery re-entry splashingdown in 81°
water in south pacific, we could still see our frosty breath inside the

command module.




The word *Command Module’ used twice in the given passage indicates perhapsthat it

23.| deals with
A) an alarming journey C)a journey into outer space
B) a commanding situation D) a frightful battle
24 Which one of the following reasons would one consider as more as possible for the
' | warning lights to be on?
A) There was a shower of debris C) A catastrophe was imminent
B) Jack was yelling D) The moon was looming close and big.
The statement that the dazzling sunshine was "'for once unfiltered by layers of
25.| air" means
A) that the sun was very hot B) that there was no strong wind
C) that the air was unpolluted D) none of above
A sentence has been given in Active Voice convert it to as Passive voice “Her manners
26. pleased us very much”
A.We were very much pleased on her C.We pleased her very much with
manners. manners.
B.We are very much pleased with her D.We were very much pleased with her
manners. manners.
Find out the alternative figure which contains figure (X) as its part.
. Z
x @O @ B @
A)l C)3
B) 2 D)4
28.| The workers are hell bent at getting what is due to them.
A) hell bent on getting C) hell bent upon getting
B) hell bent for getting D) No improvement
29 When it was feared that the serfs might go too far and gain their freedom from
"| serfdom, the protestant leaders joined the princes at crushing them.
A\) into crushing C) without crushing
B) in crushing D) No improvement
1f the room had been brighter, I would have been able to read for a while before
30. bed time.
A) If the room was brighter C) Had the room been brighter
B) If the room are brighter D) No improvement
31.| The shopkeeper lowered the prices (Convert the sentence to Passive voice)
A.The prices lowered the shopkeeper B.Down went the prices
C.The prices were lowered by the D.The shopkeeper got down the prices
shopkeeper
Six friends are sitting in a circle and are facing the centre of the circle. Deepa is
32.| between Prakash and Pankaj. Priti is between Mukesh and Lalit. Prakash and
Mukesh are opposite to each other.Who is right to Prakash?
A) Mukesh C) Pankaj
B) Deepa D) Lalit
33 Complete the below sentence with proper agreement of the verb with the subject.

My uncle and benefactor __

A) has come | C) were come




B) have come | D)iscome

Arrange the words given below in a meaningful sequence. 1.Key, 2.Door, 3.Lock,

34. 4.Room, 5.Switch on
A)5,1,2,4,3 C)1,3,2,4,5
B)4,2,1,5 3 D)1,2,3,5,4
Identify the figure that completes the pattern.

- IIIH /
(X) 1) 2) 3) 4)
A) 1l C 3

B) 2 D)4
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